# The Bessel Numbers and Bessel Matrices 

Sheng Liang YANG ${ }^{1, *}$, Zhan Ke QIAO ${ }^{2}$<br>1. Department of Applied Mathematics, Lanzhou University of Technology, Gansu 730050, P. R. China;<br>2. Department of Mathematics, Suzhou University of Science and Technology,<br>Jiangsu 215009, P. R. China


#### Abstract

In this paper, using exponential Riordan arrays, we investigate the Bessel numbers and Bessel matrices. By exploring links between the Bessel matrices, the Stirling matrices and the degenerate Stirling matrices, we show that the Bessel numbers are special case of the degenerate Stirling numbers, and derive explicit formulas for the Bessel numbers in terms of the Stirling numbers and binomial coefficients.


Keywords Bessel number of the first kind; Bessel number of the second kind; exponential Riordan array; Stirling numbers; Bessel matrix.

Document code A
MR(2010) Subject Classification 05A10; 05A19; 11B68
Chinese Library Classification O157.1

## 1. Introduction

The Bessel polynomials $[1,2]$ are the unique polynomial solutions of the second-order differential equations $x^{2} y_{n}^{\prime \prime}+(2 x+2) y_{n}^{\prime}=n(n+1) y_{n}$ (for natural numbers $n$ ) that are normalized to have unit constant term. The coefficients of these polynomials are known as Bessel coefficients. Let the Bessel number of the first kind $b(n, k)$ be the coefficient of $x^{n-k}$ in $-y_{n-1}(-x)$, and let the Bessel number of the second kind $B(n, k)$ be the number of set partitions of $[n]:=\{1,2,3, \ldots, n\}$ into $k$ blocks of size one or two. Choi et al. [3] investigated the analogies between Stirling numbers and Bessel numbers. In [4], it was shown that Bessel numbers satisfy two properties of Stirling numbers: The two kinds of Bessel numbers are related by inverse formulas, and both Bessel numbers of the first kind and those of the second kind form log-concave sequences. Shapiro et al. [5] introduced the concept of a Riordan array in 1991, then the concept is generalized to the exponential Riordan array by many authors [6-8]. In this paper, we obtain the exponential generating functions for the Bessel numbers. By using exponential Riordan arrays, we deduce the inverse formulas for the Bessel numbers, and find relations between the Bessel matrices, the Catalan matrix and the Fibonaaci matrix. By exploring links between the Bessel matrices, the

[^0]Stirling matrices and the degenerate Stirling matrices, we show that the Bessel numbers are special case of the degenerate Stirling numbers, and derive explicit formulas for the Bessel numbers in terms of the Stirling numbers and binomial coefficients.

## 2. Generating functions for the Bessel numbers

For each nonnegative integer $n$, the Bessel polynomial $y_{n}(x)$ is defined to be the (unique) polynomial of degree $n$, with unit constant term, satisfying second-order differential equation

$$
\begin{equation*}
x^{2} y_{n}^{\prime \prime}+(2 x+2) y_{n}^{\prime}=n(n+1) y_{n} \tag{1}
\end{equation*}
$$

From the differential equation (1) one can easily derive the formula

$$
y_{n}(x)=\sum_{k=0}^{n} \frac{(n+k)!}{2^{k} k!(n-k)!} x^{k} .
$$

The coefficient of $x^{n-k}$ in the $(n-1)$-th Bessel polynomial $y_{n-1}(x)$ is called the signless Bessel number of the first kind, denoted by $a(n, k)$, and $b(n, k)=(-1)^{n-k} a(n, k)$ is called the Bessel number of the first kind. By convention, we put $a(0, k)=b(0, k)=\delta_{0, k}$. So the number $b(n, k)$ was given by [4]

$$
b(n, k)= \begin{cases}(-1)^{n-k} \frac{(2 n-k-1)!}{2^{n-k}(k-1)!(n-k)!}, & \text { if } 1 \leq k \leq n  \tag{2}\\ 0, & \text { if } 1 \leq n<k\end{cases}
$$

Define the Bessel matrix of the first kind to be the infinite lower-triangle matrix $\mathbf{b}$ whose $(n, k)$-th element is equal to $b(n, k)$ :

$$
\mathbf{b}=\left(\begin{array}{cccccccc}
1 & 0 & 0 & 0 & 0 & 0 & 0 & \cdots \\
0 & 1 & 0 & 0 & 0 & 0 & 0 & \cdots \\
0 & -1 & 1 & 0 & 0 & 0 & 0 & \cdots \\
0 & 3 & -3 & 1 & 0 & 0 & 0 & \cdots \\
0 & -15 & 15 & -6 & 1 & 0 & 0 & \cdots \\
0 & 105 & -105 & 45 & -10 & 1 & 0 & \cdots \\
0 & -945 & 945 & -420 & 105 & -15 & 1 & \cdots \\
\vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \ddots
\end{array}\right)
$$

Lemma 2.1 The Bessel numbers of the first kind $b(n, k)$ have the following vertical exponential generating function

$$
\begin{equation*}
\sum_{n=k}^{\infty} b(n, k) \frac{t^{n}}{n!}=\frac{1}{k!}(\sqrt{1+2 t}-1)^{k} \tag{3}
\end{equation*}
$$

Proof Recall that the generalized binomial power series $B_{z}(t)$ was defined in $[9,10]$ as $B_{z}(t)=$ $\sum_{n=0}^{\infty}\binom{z n+1}{n} \frac{t^{n}}{z n+1}$. The generalized binomial power series satisfies $B_{z}(t)=1+t B_{z}(t)^{z}$. When $z$
is any real or complex number, exponentiation of this series is known to yield

$$
\begin{equation*}
B_{z}(t)^{x}=\sum_{n=0}^{\infty}\binom{z n+x}{n} \frac{x t^{n}}{z n+x} \tag{4}
\end{equation*}
$$

The special case $z=2$ gives

$$
\begin{equation*}
B_{2}(t)=\frac{1-\sqrt{1-4 t}}{2 t}=1+t+2 t^{2}+5 t^{3}+14 t^{4}+42 t^{5}+\cdots \tag{5}
\end{equation*}
$$

in which the coefficients are the Catalan numbers $C_{n}=\frac{1}{n+1}\binom{2 n}{n}$. From (4) and (5), we have $\sqrt{1+2 t}-1=t B_{2}\left(-\frac{t}{2}\right)=t \sum_{n=0}^{\infty}\binom{2 n+1}{n} \frac{1}{2 n+1}\left(-\frac{t}{2}\right)^{n}$, and $\frac{1}{k!}(\sqrt{1+2 t}-1)^{k}=\frac{t^{k}}{k!} B_{2}\left(-\frac{t}{2}\right)^{k}=$ $\sum_{n=k}^{\infty}(-1)^{n-k}\binom{2 n-k}{n-k} \frac{k t^{n}}{2^{n-k} k!(2 n-k)}=\sum_{n=k}^{\infty} b(n, k) \frac{t^{n}}{n!}$.

For nonnegative integers $n$ and $k$, the Bessel number of the second kind $B(n, k)$ is defined to be the number of partitions of $[n]:=\{1,2, \ldots, n\}$ into $k$ nonempty blocks of size at most 2 . A block of size 1 is called a singleton, and a block of size 2 is called a pair. The Bessel numbers of the second kind satisfy the recursion

$$
\begin{equation*}
B(n, k)=B(n-1, k-1)+(n-1) B(n-2, k-1) \tag{6}
\end{equation*}
$$

with initial conditions $B(1,1)=1$ and $B(0, k)=\delta_{0, k}$. Equation (6) is proved as follows: To obtain a partition of $[n]$ into $k$ blocks of size 1 or 2 , we can put $n$ in a block itself and partition [ $n-1$ ] into $k-1$ block of size 1 or 2 in $B(n-1, k-1)$ ways, or we can put $n$ and some $x \in[n-1]$ in a block of size 2 in $n-1$ ways and then partition $[n-1]-\{x\}$ into $k-1$ blocks of size 1 or 2 in $B(n-2, k-1)$ ways. Hence (6) follows.

Lemma 2.2 The Bessel numbers of the second kind $B(n, k)$ have the following vertical exponential generating function

$$
\begin{equation*}
\sum_{n=k}^{\infty} B(n, k) \frac{t^{n}}{n!}=\frac{1}{k!}\left(t+\frac{t^{2}}{2}\right)^{k} \tag{7}
\end{equation*}
$$

Proof Define $f_{k}(t)=\sum_{n=0}^{\infty} B(n, k) \frac{t^{n}}{n!}$. Multiply (6) on both sides by $\frac{t^{n-1}}{(n-1)!}$ and sum on $n$. The result is that $f_{k}^{\prime}(t)=(1+t) f_{k-1}(t)$. Since $f_{0}(t)=1$ and $f_{k}(0)=0$ for $k \geq 1$, we find successively that $f_{1}(t)=t+\frac{t^{2}}{2}, f_{2}(t)=\frac{1}{2}\left(t+\frac{t^{2}}{2}\right)$, and so forth. The result follows by induction.

By Lemma 2.2, it is easy to see that the number $B(n, k)$ is given by

$$
B(n, k)= \begin{cases}\frac{n!}{2^{n-k}(2 k-n)!(n-k)!}, & \text { if }\left\lceil\frac{n}{2}\right\rceil \leq k \leq n  \tag{8}\\ 0, & \text { otherwise }\end{cases}
$$

From (2) and (8), $B(n, k)=a(k+1,2 k-n+1)$, or equivalently $a(n, k)=B(2 n-k-1, n-1)$.
Define the Bessel matrix of the second kind to be the infinite lower-triangle matrix $\mathbf{B}$ whose
$(n, k)$-th element is equal to $B(n, k)$ :

$$
\mathbf{B}=\left(\begin{array}{cccccccc}
1 & 0 & 0 & 0 & 0 & 0 & 0 & \cdots \\
0 & 1 & 0 & 0 & 0 & 0 & 0 & \cdots \\
0 & 1 & 1 & 0 & 0 & 0 & 0 & \cdots \\
0 & 0 & 3 & 1 & 0 & 0 & 0 & \cdots \\
0 & 0 & 3 & 6 & 1 & 0 & 0 & \cdots \\
0 & 0 & 0 & 15 & 10 & 1 & 0 & \cdots \\
0 & 0 & 0 & 15 & 45 & 15 & 1 & \cdots \\
\vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \ddots
\end{array}\right)
$$

The Bessel numbers of the second kind can also be interpreted in terms of matchings of the complete graph $[11,12]$. Let $G$ be a loopless graph with $n$ vertices. A set $M$ of $k$ edges of $G$ is called a $k$-matching in $G$ if no two edges in $M$ are adjacent in $G$. A matching $M$ saturates a vertex $v$, and $v$ is said to be $M$-saturated, if some edge of $M$ is incident with $v$; otherwise, $v$ is $M$-unsaturated. Let $m(G, k)$ denote the number of $k$-matchings in $G$. We take $m(G, 0)=1$ and $m(G,-1)=0$. It is clear that $m(G, 1)$ is the number of edges in $G$ and that for $k>\left\lfloor\frac{n}{2}\right\rfloor$, $m(G, k)=0$, where $n$ is the number of vertices of $G$. The complete graph $K_{n}$ with $n$ vertices is a simple graph each pair of whose distinct vertices are adjacent. Let $m(n, k)$ denote the number of $k$-matchings in the complete graph $K_{n}$. We call $m(n, k)$ a matching number. Assume that all vertices of $K_{n}$ are labeled with the integers in $[n]$. Assume a partition of $[n]$ into $k$ nonempty blocks, each of size at most 2, has $c$ singletons and $b$ pairs. Then we have $c+b=k$ and $c+2 b=n$. Consequently, $c=2 k-n$ and $b=n-k$. Thus a partition of [ $n$ ] into $k$ nonempty blocks, each of size at most 2 , can be identified with an $(n-k)$-matching in $K_{n}$ canonically. Hence $m(n, k)=B(n, n-k)$.

## 3. Inverse formulas for the Bessel numbers

An exponential Riordan array is defined by a pair of exponential generating functions $g(t)=$ $1+\sum_{n=1}^{\infty} g_{n} \frac{t^{n}}{n!}$ and $f(t)=\sum_{n=1}^{\infty} f_{n} \frac{t^{n}}{n!}$ with $f_{1} \neq 0$, such that their $j$-th column has exponential generating function $\frac{1}{j!} g(t) f(t)^{j}$ (the first column being indexed by 0 ). As usual, the matrix corresponding to the pair $g(t), f(t)$ is denoted by $[g(t), f(t)]$ or $[g, f]$. The exponential Riordan group is the set of all exponential Riordan arrays with the operation being matrix multiplication. The group law is then given by

$$
\begin{equation*}
[g(t), f(t)][h(t), l(t)]=[g(t) h(f(t)), l(f(t))] . \tag{9}
\end{equation*}
$$

The identity for this law is $I=[1, t]$ and the inverse of $[g(t), f(t)]$ is $[1 / g(\bar{f}(t)), \bar{f}(t)]$, where $\bar{f}(t)$ is compositional inverse of $f(t)$. Let $a=\left(a_{0}, a_{1}, a_{2}, \ldots\right)^{\mathrm{T}}$ be a real sequence with exponential generating function $A(t)$. Then the sequence $[g(t), f(t)] a$ has exponential generating function
$g(t) A(f(t))$, i.e.,

$$
\begin{equation*}
[g(t), f(t)] A(t)=g(t) A(f(t)) \tag{10}
\end{equation*}
$$

From Lemmas 2.1 and 2.2, we get the following theorem.
Theorem 3.1 The Bessel matrix of the first kind is the inverse to the Bessel matrix of the second kind, and they can be represented by exponential Riordan array as $\mathbf{b}=[1, \sqrt{1+2 t}-1]$, and $\mathbf{B}=\left[1, t+\frac{t^{2}}{2}\right]$, respectively.

The compositional inverse of $f(t)=t+\frac{t^{2}}{2}$ is $\bar{f}(t)=\sqrt{1+2 t}-1$, hence the inverse of the exponential Riordan array $\left[1, t+\frac{t^{2}}{2}\right]$ is $[1, \sqrt{1+2 t}-1]$. Therefore, we derive the following inverse formulas for the Bessel numbers which were deduced in [4] by using the Lagrange Inversion Formula:

$$
\begin{align*}
& \sum_{k \leq j \leq n}^{n} B(n, j) b(j, k)=\delta_{n, k}  \tag{11}\\
& \sum_{k \leq j \leq n}^{n} b(n, j) B(j, k)=\delta_{n, k} \tag{12}
\end{align*}
$$

Theorem 3.2 The row sums of the Bessel matrix of the second kind $\mathbf{B}$ are given by $u_{n}=$ $\sum_{k=0}^{\left\lfloor\frac{n}{2}\right\rfloor}\binom{n}{2 k} \frac{(2 k)!}{2^{k} k!}$, and satisfy the recurrence equation

$$
u_{n}=u_{n-1}+(n-1) u_{n-2}
$$

with $u_{0}=1, u_{1}=1$.
Proof It follows from the fact that exponential generating function of the sequence of row sums is given by $\left[1, t+\frac{t^{2}}{2}\right] e^{t}=e^{t+\frac{t^{2}}{2}}$.

The sequence of row sums of $\mathbf{B}$ can be represented by the Hermite polynomial as $u_{n}=$ $\left(\frac{\sqrt{-1}}{\sqrt{2}}\right)^{n} H_{n}\left(-\frac{\sqrt{-1}}{\sqrt{2}}\right)$, here the Hermite polynomials $H_{n}(x)=\sum_{k=0}^{\left\lfloor\frac{n}{2}\right\rfloor} \frac{(-1)^{k} n!}{k!(n-2 k)!}(2 x)^{n-2 k}$, which can be defined by exponential generating function

$$
\begin{equation*}
\sum_{k=0}^{\infty} H_{n}(x) \frac{t^{n}}{n!}=e^{2 x t-t^{2}} \tag{13}
\end{equation*}
$$

The combinatorial interpretations of the $n$-th row sum $u_{n}$ are (see Stanley [13]):
(a) The number of matchings in the complete graph $K_{n}$.
(b) The number of involutions in the symmetric group $S_{n}$.
(c) The number of partitions of an $n$-set with blocks of size 1 or 2 .
(d) The number of symmetric $n \times n$ permutation matrices.

We shall show that the Bessel matrices have a tight connection with the Catalan matrix C which has many important applications in Combinatorics and Number Theory [14-17]. The

Catalan matrix $\mathbf{C}$ is given by

$$
\mathbf{C}=\left(\begin{array}{cccccccc}
1 & 0 & 0 & 0 & 0 & 0 & 0 & \cdots \\
0 & 1 & 0 & 0 & 0 & 0 & 0 & \cdots \\
0 & -1 & 1 & 0 & 0 & 0 & 0 & \cdots \\
0 & 2 & -2 & 1 & 0 & 0 & 0 & \cdots \\
0 & -5 & 5 & -3 & 1 & 0 & 0 & \cdots \\
0 & 14 & -14 & 9 & -4 & 1 & 0 & \cdots \\
0 & -42 & 42 & -28 & 14 & -5 & 1 & \cdots \\
\vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \ddots
\end{array}\right),
$$

and its inverse is the Fibonacci matrix $\mathbf{F}$ defined by

$$
\mathbf{F}=\left(\begin{array}{cccccccc}
1 & 0 & 0 & 0 & 0 & 0 & 0 & \cdots \\
0 & 1 & 0 & 0 & 0 & 0 & 0 & \cdots \\
0 & 1 & 1 & 0 & 0 & 0 & 0 & \cdots \\
0 & 0 & 2 & 1 & 0 & 0 & 0 & \cdots \\
0 & 0 & 1 & 3 & 1 & 0 & 0 & \cdots \\
0 & 0 & 0 & 3 & 4 & 1 & 0 & \cdots \\
0 & 0 & 0 & 1 & 6 & 5 & 1 & \cdots \\
\vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \ddots
\end{array}\right) .
$$

Let $\mathbf{G}=\operatorname{diag}\left(1, \frac{1!}{2}, \frac{2!}{2^{2}}, \frac{3!}{2^{3}}, \cdots\right)$. Then we have following theorem.
Theorem 3.3 The connection between the Bessel matrices and Catalan matrix is given by $\mathbf{b}=G \mathbf{C} G^{-1} ; \mathbf{B}=G \mathbf{F} G^{-1}$.

Proof The general term of the matrix $\mathbf{C}$ is $\mathbf{C}(n, k)=(-1)^{n+k}\binom{2 n-k}{n-k} \frac{k}{2 n-k}$. From the proof of Lemma 2.1, $b(n, k)=\frac{(-1)^{n-k} n!}{2^{n-k} k!}\binom{2 n-k}{n-k} \frac{k}{2 n-k}=\frac{n!}{2^{n}} \mathbf{C}(n, k) \frac{2^{k}}{k!}$. Hence $\mathbf{b}=G \mathbf{C} G^{-1}$, and $\mathbf{B}=\mathbf{b}^{-1}=$ $G \mathbf{C}^{-1} G^{-1}=G \mathbf{F} G^{-1}$.

## 4. Connection with Stirling numbers

The well-known Stirling numbers of the first kind $s(n, k)$ and the second kind $S(n, k)$ are defined as connection coefficients:

$$
\begin{equation*}
(t)_{n}=\sum_{k=0}^{n} s(n, k) t^{k} \tag{14}
\end{equation*}
$$

$$
\begin{equation*}
t^{n}=\sum_{k=0}^{n} S(n, k)(t)_{k} \tag{15}
\end{equation*}
$$

where $(t)_{0}=1$ and $(t)_{n}=t(t-1)(t-2) \cdots(t-n+1)$ for any integer $n>0$.
It is known that the exponential generating functions for the Stirling numbers are

$$
\begin{align*}
& \sum_{n=k}^{\infty} s(n, k) \frac{t^{n}}{n!}=\frac{1}{k!}(\log (1+t))^{k}  \tag{16}\\
& \sum_{n=k}^{\infty} S(n, k) \frac{t^{n}}{n!}=\frac{1}{k!}\left(e^{t}-1\right)^{k} \tag{17}
\end{align*}
$$

The Stirling matrix of the first kind $\widetilde{\mathbf{s}}$ and the Stirling matrix of the second kind $\widetilde{\mathbf{S}}$ are defined respectively by $[18,19]$

$$
\begin{aligned}
& \widetilde{s}(i, j)=\left\{\begin{array}{cc}
s(i, j), & \text { if } i \geq j \geq 0 \\
0, & \text { otherwise }
\end{array}\right. \\
& \widetilde{S}(i, j)=\left\{\begin{array}{cc}
S(i, j), & \text { if } i \geq j \geq 0 \\
0, & \text { otherwise }
\end{array}\right.
\end{aligned}
$$

It is easy to check that the infinite lower triangular matrix $\widetilde{\mathbf{s}}$ and $\widetilde{\mathbf{S}}$ are exponential Riordan arrays, namely $\widetilde{\mathbf{s}}=[1, \log (1+t)]$, and $\widetilde{\mathbf{S}}=\left[1, e^{t}-1\right]$.

For any nonzero real number $x$, the Stirling function matrices of the first kind $\widetilde{s}[x]$ and the second kind $\widetilde{S}[x]$ are defined respectively by [18]

$$
\begin{aligned}
& \widetilde{s}[x](i, j)=\left\{\begin{array}{cc}
x^{i-j} s(i, j), & \text { if } i \geq j \geq 0 \\
0, & \text { otherwise }
\end{array}\right. \\
& \widetilde{S}[x](i, j)=\left\{\begin{array}{cc}
x^{i-j} S(i, j), & \text { if } i \geq j \geq 0 \\
0, & \text { otherwise }
\end{array}\right.
\end{aligned}
$$

The infinite lower triangular matrices $\widetilde{s}[x]$ and $\widetilde{S}[x]$ can be expressed by exponential Riordan arrays as $\widetilde{s}[x]=\left[1, \frac{1}{x} \log (1+x t)\right]$, and $\widetilde{S}[x]=\left[1, \frac{1}{x}\left(e^{x t}-1\right)\right]$.

Theorem 4.1 The Bessel matrices are connected with the Stirling matrices by

$$
\mathbf{b} \widetilde{s}=\widetilde{s}[2], \quad \widetilde{S} \mathbf{B}=\widetilde{S}[2]
$$

Equivalently, the following identities hold

$$
\sum_{j=0}^{n} b(n, j) s(j, k)=s(n, k) 2^{n-k}, \quad \sum_{j=0}^{n} S(n, j) B(j, k)=S(n, k) 2^{n-k}
$$

Proof By the multiplication rule of the exponential Riordan arrays (9), we obtain

$$
\begin{gathered}
\mathbf{b} \widetilde{s}=[1, \sqrt{1+2 t}-1][1, \log (1+t)]=\left[1, \frac{1}{2} \log (1+2 t)\right]=\widetilde{s}[2] \\
\widetilde{S} \mathbf{B}=\left[1, e^{t}-1\right]\left[1, t+\frac{t^{2}}{2}\right]=\left[1, \frac{1}{2}\left(e^{2 t}-1\right)\right]=\widetilde{S}[2] .
\end{gathered}
$$

Using Theorem 4.1, we can obtain

$$
\mathbf{b}=\widetilde{s}[2] \widetilde{S}, \quad \mathbf{B}=\widetilde{s} \widetilde{S}[2] .
$$

Thus the Bessel numbers may be expressed in terms of Stirling numbers as:

$$
\begin{align*}
& b(n, k)=\sum_{j=k}^{n} 2^{n-j} s(n, j) S(j, k)  \tag{18}\\
& B(n, k)=\sum_{j=k}^{n} 2^{j-k} s(n, j) S(j, k) \tag{19}
\end{align*}
$$

The degenerate Stirling numbers of the first kind $s(n, k \mid x)$ and the second kind $S(n, k \mid x)$ are defined by [20-22]

$$
\begin{align*}
& \left(\frac{(1+t)^{x}-1}{x}\right)^{k}=k!\sum_{n=k}^{\infty} s(n, k \mid x) \frac{t^{n}}{n!}  \tag{20}\\
& \left((1+x t)^{\frac{1}{x}}-1\right)^{k}=k!\sum_{n=k}^{\infty} S(n, k \mid x) \frac{t^{n}}{n!} \tag{21}
\end{align*}
$$

Now, we define the infinite lower triangular matrices $\bar{s}[x]$ and $\bar{S}[x]$ by

$$
\bar{s}[x](i, j)=s(i, j \mid x), \bar{S}[x](i, j)=S(i, j \mid x) \text { for } i, j=0,1,2, \ldots
$$

Then they can be written as exponential Riordan array as $\bar{s}[x]=\left[1, \frac{1}{x}\left((1+t)^{x}-1\right)\right], \bar{S}[x]=$ $\left[1,(1+x t)^{\frac{1}{x}}-1\right]$.

Theorem 4.2 The Stirling function matrices are connected with the Stirling matrices by

$$
\bar{S}[x] \widetilde{s}=\widetilde{s}[x], \quad \widetilde{S} \bar{s}[x]=\widetilde{S}[x]
$$

Equivalently, the following identities hold

$$
\begin{align*}
& \sum_{j=0}^{n} S(n, j \mid x) s(j, k)=s(n, k) x^{n-k}  \tag{22}\\
& \sum_{j=0}^{n} S(n, j) s(j, k \mid x)=S(n, k) x^{n-k} \tag{23}
\end{align*}
$$

Proof By the multiplication rule of the exponential Riordan arrays (9), we have

$$
\begin{aligned}
& \bar{S}[x] \widetilde{s}=\left[1,(1+x t)^{\frac{1}{x}}-1\right][1, \log (1+t)]=\left[1, \frac{1}{x} \log (1+x t)\right]=\widetilde{s}[x] \\
& \widetilde{S} \bar{s}[x]=\left[1, e^{t}-1\right]\left[1, \frac{1}{x}\left((1+t)^{x}-1\right)\right]=\left[1, \frac{1}{x}\left(e^{x t}-1\right)\right]=\widetilde{S}[x]
\end{aligned}
$$

Using Theorem 4.2, we can derive expressions for the degenerate Stirling numbers in terms of Stirling numbers [20]:

$$
\begin{equation*}
S(n, k \mid x)=\sum_{j=k}^{n} s(n, j) S(j, k) x^{n-j} \tag{24}
\end{equation*}
$$

$$
\begin{equation*}
s(n, k \mid x)=\sum_{j=k}^{n} s(n, j) S(j, k) x^{j-k} \tag{25}
\end{equation*}
$$

Setting $x=-1$, we have

$$
\begin{gathered}
\bar{s}[-1]=\left[1, \frac{t}{1+t}\right]=\left((-1)^{i+j} \frac{i!}{j!}\binom{i-1}{j-1}\right)_{i, j \geq 0} \\
\bar{S}[-1]=\left[1, \frac{t}{1-t}\right]=\left(\frac{i!}{j!}\binom{i-1}{j-1}\right)_{i, j \geq 0}
\end{gathered}
$$

which are Lah matrices defined by Tan [23]. From (22) and (23), we get

$$
\begin{gather*}
\sum_{j=0}^{n} \frac{n!}{j!}\binom{n-1}{j-1} s(j, k)=(-1)^{n-k} s(n, k),  \tag{26}\\
\sum_{j=0}^{n}(-1)^{j-k} S(n, j) \frac{j!}{k!}\binom{j-1}{k-1}=(-1)^{n-k} S(n, k) . \tag{27}
\end{gather*}
$$

Theorem 4.3 We have the following explicit formulas for the two kinds of Bessel numbers

$$
\begin{gather*}
b(n, k)=\frac{1}{k!} \sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j} j(j-2)(j-4) \cdots(j-2 n+2),  \tag{28}\\
B(n, k)=\frac{1}{2^{k} k!} \sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j} 2 j(2 j-1)(2 j-2) \cdots(2 j-n+1) . \tag{29}
\end{gather*}
$$

Proof Comparing the exponential generating functions (3), (7) and (20), (21), we find that $b(n, k)=S(n, k \mid 2), B(n, k)=s(n, k \mid 2)$. Carlitz [20] proved that

$$
\begin{gather*}
s(n, k \mid x)=\frac{1}{x^{k} k!} \sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j} j x(j x-1)(j x-2) \cdots(j x-n+1),  \tag{30}\\
S(n, k \mid x)=\frac{1}{k!} \sum_{j=0}^{k}(-1)^{k-j}\binom{k}{j} j(j-x)(j-2 x) \cdots(j-n x+x) . \tag{31}
\end{gather*}
$$

Substituting $x=2$ into (30) and (31), respectively, we obtain the desired results.

## References

[1] BURCHNALL J L. The Bessel polynomials [J]. Canadian J. Math., 1951, 3: 62-68.
[2] GROSSWALD E. Bessel Polynomials [M]. Springer, Berlin, 1978.
[3] CHOI J Y, SMITH J D H. On the unimodality and combinatorics of Bessel numbers [J]. Discrete Math., 2003, 264(1-3): 45-53.
[4] HAN H, SEO S. Combinatorial proofs of inverse relations and log-concavity for Bessel numbers [J]. European J. Combin., 2008, 29(7): 1544-1554.
[5] SHAPIRO L W, GETU S, WOAN W J. et al. The Riordan group [J]. Discrete Appl. Math., 1991, 34(1-3): 229-239.
[6] BARRY P. On a family of generalized Pascal triangles defined by exponential Riordan arrays [J]. J. Integer Seq., 2007, 10(3): Article 07.3.5, 21 pp.
[7] ZHAO Xiqiang, WANG Tianming. Some identities related to reciprocal functions [J]. Discrete Math., 2003, 265(1-3): 323-335.
[8] SHAPIRO L W. Bijections and the Riordan group [J]. Theoret. Comput. Sci., 2003, 307(2): 403-413.
[9] GRAHAM R, KNUTH D, PATASHNIK O. Concrete Mathematics [M]. Addison-Wesley Publishing Company, Advanced Book Program, Reading, MA, 1989.
[10] KNUTH D. Convolution polynomials [J]. The Mathematica Journal, 1992, 2: 67-78.
[11] KRATTENTHALER C. Combinatorial proof of the Log-concavity of the sequence of matching numbers [J]. J. Combin. Theory Ser. A, 1996, 74(2): 351-354.
[12] ANDREWS G E, ASKEY R, ROY R. Special Functions [M]. Cambridge University Press, Cambridge, 2000.
[13] STANLEY R P. Enumerative Combinatorics (Vol.2) [M]. Cambridge University Press, Cambridge, 1999.
[14] SHAPIRO L W. Some open questions about random walks, involutions, limiting distributions, and generating functions [J]. Adv. in Appl. Math., 2001, 27(2-3): 585-596.
[15] SHAPIRO L W. A Catalan triangle [J]. Discrete Math., 1976, 14(1): 83-90.
[16] CHAPMAN R. Moments of Dyck paths [J]. Discrete Math., 1999, 204(1-3): 113-117.
[17] CHEN W Y C, LI N Y, SHAPIRO L W, et al. Matrix identities on weighted partial Motzkin paths [J]. European J. Combin., 2007, 28(4): 1196-1207.
[18] CHEON G S, KIM J S. Stirling matrix via Pascal matrix [J]. Linear Algebra Appl., 2001, 329(1-3): 49-59.
[19] YANG Shengliang, QIAO Zhanke. Stirling matrix and its property [J]. Int. J. Appl. Math., 2004, 14(2): 145-157.
[20] CARLITZ L. Degenerate Stirling, Bernoulli and Eulerian numbers [J]. Utilitas Math., 1979, 15: 51-88.
[21] CARLITZ L. Weighted Stirling numbers of the first and second kind (I) [J]. Fibonacci Quart., 1980, 18(2): 147-162.
[22] HSU L C, SHIUE P J. A unified approach to generalized Stirling numbers [J]. Adv. in Appl. Math., 1998, 20(3): 366-384.
[23] TAN Mingshu, WANG Tianming. Lah matrix and its algebraic properties [J]. Ars Combin., 2004, 70: 97-108.


[^0]:    Received February 7, 2010; Accepted April 26, 2010
    Supported by the Natural Science Foundation of Gansu Province (Grant No. 1010RJZA049).

    * Corresponding author

    E-mail address: slyang@lut.cn (S. L. YANG)

